
GUN & SHELL FACTORYGUN & SHELL FACTORY
COSSIPORECOSSIPORE

KOLKATAKOLKATA--700 002700 002



THESE DRAWINGS ARE EXCLUSIVE THESE DRAWINGS ARE EXCLUSIVE 
PROPERTY OF THE GENERAL PROPERTY OF THE GENERAL 
MANAGER GUN AND SHELL FACTORYMANAGER GUN AND SHELL FACTORY

NO PART OF IT SHOULD BE COPIED NO PART OF IT SHOULD BE COPIED 
,TRANSMITTED OR REPRODUCED ,TRANSMITTED OR REPRODUCED 
WITHOUT HIS PRIOR PERMISSIONWITHOUT HIS PRIOR PERMISSION

THE CD SHOULD BE RETURNED TO THE CD SHOULD BE RETURNED TO 
THE GENERAL MANAGER GUN AND THE GENERAL MANAGER GUN AND 
SHELL FACTORY AFTER USE SHELL FACTORY AFTER USE 



MANTLETMANTLET



Fo
rm

at
 

Zo
ne

 

Po
si

tio
n 

Designation Nomenclature Q
ty

. 

Remarks 

       

    Documents   

       

Fi
rs

t u
se

 
 

       

A1   AK-630 Sb 103 SB Assembly drawing   

       

       

    Assembly units   

       R
ef

er
en

ce
 N

o.
 

 

       

A4  1 AK-630 Sb 103-1 Mantlet base 1  

A4  2 AK-630 Sb 103-2 Mantlet cover 1  

A4  3 AK-630 Sb 103-3 Lock 2  

A4  4 AK-630 Sb 103-4 Lower packing 1  

A4  5 AK-630 Sb 103-5 Upper packing 1  

       

 

       

    Components   
       
       

S
ig

n 
an

d 
D

at
e 

 

*)  8 AK-630 103-1 Cover plate 2 *)A4x3 

A3  10 AK-630 103-3 Cramp 2  

A4  11 AK-630 103-5 Cramp 1  

       

D
up

lic
at

e 
In

v.
 N

o 
 

       

       

       

       

A
lte

rn
at

e 
In

v.
 N

o.
 

 

       
     

     

Amend. Sheet Doc. No. Sign Date 

AK-630. Sb 103 

S
ig

n 
an

d 
D

at
e 

 

Developed by    Type Sheet Sheets 

Checked by     A  1 2 
    
Head of Q.C.D    

O
rig

. I
nv

. N
o.

 
 

Approved by    

Mantlet   

 



 

Fo
rm

at
 

Zo
ne

 

Po
si

tio
n 

Designation Nomenclature Q
ty

. 

Remarks 

       

    Standard articles   

       

       

  17  Bolt M8-8gx20.109.40X.029 5 *1) 

    GOST 7798-70   

  18  Bolt 2M8-8gx60.109.40X.029 4 *1) 

    GOST 7798-70   

  19  Nut M4-6G.10.40X.026 22 *1) 

    GOST 5927-70   

  21  Nut M8-6G.10.40X.026 4 *1) 

    GOST 5919-73   

  24  Washer 4.01.08KP.029 22  

    GOST 13463-77   

  25  Washer A8x1.5.25.029 4  

    GOST 11371-78   

 

  26  Washer 8.01.08KP.029 5  

    GOST 13463-77   
  29  Cotter pin 2x20.029 4  
    GOST 397-79   

S
ig

n 
an

d 
D

at
e 

 

  34  Rivet 4x14.03.15.026 16  
    GOST 10300-80   

  35  Screw 2.M4-6gx20.109.40X.029 22 *1) 

    GOST 17475-80  65.5…70HRA 

D
up

lic
at

e 
In

v.
 N

o 
 

       

  36  Washer A4.25.029 12  

    GOST 11371-78   

       

A
lte

rn
at

e 
In

v.
 N

o.
 

 

   *1)  Heat treatment of bolts pos.17,18   31…40.5HRCE   nuts pos.21 

         31…39.5HRCE  nuts pos.19 and screws pos.35     65.5…70HRA 

       

       

S
ig

n 
an

d 
D

at
e 

 

       

     Sheet 

     

O
rig

. I
nv

. N
o.

 
 

Amend. Sheet Doc. No. Sign Date 

AK-630. Sb 103 
2 

 
 



AK-630     Sb103  SB 

1. *Dimensions are ensured by tool. 
2. Drill hole “3” in mask base pos. 1 and mask cover pos. 2 as per arrow pos. 10, lock pos. 3 and
    bracket pos.11 . 
3. Drill hole K in mask base pos. 1 and mask cover pos. 2 on gasket pos. 8 . 
4. Setting of lock should be ensured with tie-link till mating of mask cover and mask base on plane
    E from both sides. Local clearance not more than 0.2 mm is permissible . 
5. During closing of lock by manual force,its locator should trigger under action of  springs . 
6. In assembly AK-630M SB.00 SB clearance should not be less than 1 mm at places of maximum
    closeness between bolts pos. 18 Sb 103 SB and carriage AK-630 102-47. 
Placing of washer under bolt heads as per GOST 11371-78 is permissible . 
7.Carry out locking of bolts pos. 17,18 after final setting of mask on article. 
8.Cut the lower packing and upper packing projecting beyond outer surface of mask at places of 
   joint of mask cover and mask base parts, flush with from these surfaces. 
9.Use of rivet 4X10.03.015.026 GOST 10299-80 during placement of components pos. 3,10 is 
   permissible . 
10.Coating : 
    Primer AK-070, yellowish (2), 
    Enamelkhv-124, gray (4, IV, Om2

Except surfaces E and È .        

    Restore ( till placement of assemblies pos. 4 and pos. 5 ) with lacquer in case of damage of surface
    È coatings. 
    Primer AK-070 GOST 25718-83
    Enamel khv-124 GOST 10144-89. 
11.Mark Ø,×,Í, Ha and stamp K on AK-630, AK-630M TU 1 . Ha-technological unit number
   of assembly . 

AK-630     Sb103  SB 

Weight 

Sheet

A 7.800 1:2

Format   A1

Sheets  1

Scale

In
v.

 N
o

. 
S

ig
n

 &
 D

a
te

A
lte

rn
a

te
 I
n

v.
 N

o
. 

D
u

p
lic

a
te

 I
n

v.
 N

o
. 

S
ig

n
 &

 D
a

te
R

e
fe

r 
N

o
. 

F
ir
st

 r
e

m
a

rk
s 

Type

Amend

Developed by

Checked by

Technician

Head of bureau
Head of Q.C.D

Approved by

Sheet Doc. No. Sign Date
Mask 

Assembly drawing 

Ba
le

 N
o.

 3
 c

on
ta

in
er

 1

Bale No. 3 container 1






















































































	GUN & SHELL FACTORY.pdf
	GUN & SHELL FACTORYCOSSIPOREKOLKATA-700 002

	AK-630  SB103SB (a1) (3 copy printed).pdf
	Page 1


